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41-44 EREZH

There is a long-held belief that when meeting someone, the more eye contact we
have with the person, the better. The result is an unfortunate tendency for people making
initial contact—in a job interview, for example—to stare fixedly at the other individual.
However, this behavior is likely to make the interviewer feel very uncomfortable. Most of
us are comfortable with eye contact lasting a few seconds. But eye contact which persists
longer than that can make us nervous.

Another widely accepted belief is that powerful people in a society—often
men—show their dominance over others by touching them in a variety of ways. In fact,
research shows that in almost all cases, lower-status people initiate touch. Women also
initiate touch more often than men do.

The belief that rapid speech and lying go together is also widespread and enduring.
We react strongly—and suspiciously—to fast talk. However, the opposite is a greater cause
for suspicion. Speech that is slow, because it is laced with pauses or errors, is a more
reliable indicator of lying than the opposite.
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long-held EHAFFARY ; tendency 2%

initial H#JAY  initiate 7L, B4R

stare at %ifi(=gaze at) ; fixedly H FEEHEHY

persist 55745 ({71 ) (= last; continue; endure)

dominance fB&% ; status H7fir ; widespread E)THY
react to(/1E1) + 0. ; suspiciously [E5EH suspicion(n.)[E5%%
be laced with #&%E ; reliable (=dependable; trustworthy)
indicator 57 ~{E5% ; instinct AFE, KM ;  interpret 1%

verbal =zEHY

( )41. Which of the following statements is true according to the passage?
A) Rapid speech without mistakes is a reliable sign of intelligence.

B) Women often play a more dominant role than men in a community.

C) Speaking slowly is more often a sign of lying than speaking quickly.

D) Touching tends to be initiated first by people of higher social positions.

—~ e~~~

15 (C)FH Y : Speech that is slow, because it is laced with pauses or errors, is a more

reliable indicator of lying than the opposite.

( )42. What is true about fixing your eyes on a person when you first meet him/her?
A) Fixing your eyes on the person will make him/her feel at ease.

B) It is more polite to fix your eyes on him/her as long as you can.

C) Most people feel uneasy to have eye contact for over a few seconds.

D) It doesn’t make a difference whether you fix your eyes on him/her or not.

~ e~~~

#EE(C)HE Y © Most of us are comfortable with eye contact lasting a few seconds. But eye

contact which persists longer than that can make us nervous.
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( )43. Which of the following is NOT discussed in the passage?
(A) Facial expressions.
(B) Physical contact.

(C) Rate of speech.
(D) Eye contact.
ZE(A)EH - SO RIIR R R R - sRERERE (BRI KA B RIS -

( )44. What is the main idea of the passage?
(A) People have an instinct for interpreting non-verbal communication.
(B) We should not judge the intention of a person by his body language.
(C) A good knowledge of body language is essential for successful communication.
(D) Common beliefs about verbal and non-verbal communication are not always correct.

2 (D) © ASCEL along-held belief(R AFFAIEE B AR S 82 4G R HE
FJEUILL, N7 ZRAR PR AR T ] K BR st 2R 1S f ] -

45-48 FuRE4H

It is easy for us to tell our friends from our enemies. But can other animals do the
same? Elephants can! They can use their sense of vision and smell to tell the difference
between people who pose a threat and those who do not.

In Kenya, researchers found that elephants react differently to clothing worn by men
of the Maasai and Kamba ethnic groups. Young Maasai men spear animals and thus pose a
threat to elephants; Kamba men are mainly farmers and are not a danger to elephants.

In an experiment conducted by animal scientists, elephants were first presented with
clean clothing or clothing that had been worn for five days by either a Maasai or a Kamba
man. When the elephants detected the smell of clothing worn by a Maasai man, they
moved away from the smell faster and took longer to relax than when they detected the
smells of either clothing worn by Kamba men or clothing that had not been worn at all.

Garment color also plays a role, though in a different way. In the same study, when
the elephants saw red clothing not worn before, they reacted angrily, as red is typically
worn by Maasai men. Rather than running away as they did with the smell, the elephants
acted aggressively toward the red clothing.

The researchers believe that the elephants’ emotional reactions are due to their
different interpretations of the smells and the sights. Smelling a potential danger means
that a threat is nearby and the best thing to do is run away and hide. Seeing a potential
threat without its smell means that risk is low. Therefore, instead of showing fear and
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running away, the elephants express their anger and become aggressive.
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)45. According to the passage, which of the following statements is true about Kamba
and Maasai people?

(A) Maasai people are a threat to elephants.

(B) Kamba people raise elephants for farming.

(C) Both Kamba and Maasai people are elephant hunters.

(D) Both Kamba and Maasai people traditionally wear red clothing.

(A - S FEH, Young Maasai men spear animals and thus pose a threat to

elephants.

)46. How did the elephants react to smell in the study?

A) They attacked a man with the smell of new clothing.

B) They needed time to relax when smelling something unfamiliar.

C) They became anxious when they smelled Kamba-scented clothing.

D) They were frightened and ran away when they smelled their enemies.

——~ e~~~

(D) EEH - SCH S H When the elephants detected the smell of clothing worn by a

Maasai man(Hr{fEYEL A), they moved away from the smell faster and took longer to

relax.

)47. What is the main idea of this passage?
(A) Elephants use sight and smell to detect danger.

(B) Elephants attack people who wear red clothing.

(C) Scientists are now able to control elephants’ emotions.

(D) Some Kenyan tribes understand elephants’ emotions very well.
HE(A)RH ¢ SO R RS & RIS A AR, A B .

)48. What can be inferred about the elephant’s behavior from this passage?
A) Elephants learn from their experiences.

B) Elephants have sharper sense of smell than sight.

C) Elephants are more intelligent than other animals.

D) Elephants tend to attack rather than escape when in danger.

ZE(A)ELE : SO B EIRE NG T RliR#hY), KRR EESFE A AR SR IR,
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49-52 FyRAZH

It was something she had dreamed of since she was five. Finally, after years of
training and intensive workouts, Deborah Duffey was going to compete in her first high
school basketball game. The goals of becoming an outstanding player and playing college
ball were never far from Deborah’s mind.

The game was against Mills High School. With 1:42 minutes left in the game,
Deborah’s team led by one point. A player of Mills had possession of the ball, and Deborah
ran to guard against her. As Deborah shuffled sideways to block the player, her knee went
out and she collapsed on the court in burning pain. Just like that, Deborah’s season was
over.

After suffering the bad injury, Deborah found that, for the first time in her life, she
was in a situation beyond her control. Game after game, she could do nothing but sit on the
sidelines watching others play the game that she loved so much.

Injuries limited Deborah’s time on the court as she hurt her knees three more times
in the next five years. She had to spend countless hours in a physical therapy clinic to
receive treatment. Her frequent visits there gave her a passion and respect for the
profession. And Deborah began to see a new light in her life.

Currently a senior in college, Deborah focuses on pursuing a degree in physical
therapy. After she graduates, Deborah plans to use her knowledge to educate people how
to best take care of their bodies and cope with the feelings of hopelessness that she
remembers so well.
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possession ZEEK ;  shuffle fii& (Hil) &, BIFHIEA

sideways |5 ; block [H¥E ; collapse {2 T~,585H

burning 58%1HY ; sideline(Eki5)iE4% ; (basket) court BKS
countless FEEY ;  physical ¥Ry, SEEHY  ;  therapy (&I

clinic22f ; treatment )&%

( )49. What is the best title for this passage?
A) A Painful Mistake

B) A Great Adventure

C) A Lifelong Punishment

D) A New Direction in Life

DV SR — L 2 BRI EER SRR P B AR B -

~ e~~~

( )50. How did Deborah feel when she first hurt her knee?
A) Excited.

B) Confused.

C) Ashamed.

D) Disappointed.

—~ e~~~
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( )51. What s true about Deborah Duffey?
(A) She didn’t play on the court after the initial injury.
(B) She injured her knee when she was trying to block her opponent.
(C) She knew that she couldn’t be a basketball player when she was a child.
(D) She refused to seek professional assistance to help her recover from her injuries.

ZE(B)HRER © SCrP A EEFRIER] 1 7 42 PURY AR B P B2V ER SRR T S R
BT, & BB 578 RIHEAN AL R Sy A IR &R I B EERS Rt &

o
o

( )52. What was the new light that Deborah saw in her life?
) To help people take care of their bodies.
) To become a teacher of Physical Education.

C) To become an outstanding basketball player.

D) To receive treatment in a physical therapy office.

ZE(A)BEFD © SRR S T B S S SRR A AR S KRR A ] B B C Y

(A
(B
(
(

586, 0 i B At e PR R B0

53-56 JyieiH

Redwood trees are the tallest plants on the earth, reaching heights of up to 100
meters. They are also known for their longevity, typically 500 to 1000 years, but sometimes
more than 2000 years. A hundred million years ago, in the age of dinosaurs, redwoods were
common in the forests of a much more moist and tropical North America. As the climate
became drier and colder, they retreated to a narrow strip along the Pacific coast of
Northern California.

The trunk of redwood trees is very stout and usually forms a single straight column. It
is covered with a beautiful soft, spongy bark. This bark can be pretty thick, well over two
feet in the more mature trees. It gives the older trees a certain kind of protection from
insects, but the main benefit is that it keeps the center of the tree intact from moderate
forest fires because of its thickness. This fire resistant quality explains why the giant
redwood grows to live that long. While most other types of trees are destroyed by forest
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fires, the giant redwood actually prospers because of them. Moderate fires will clear the
ground of competing plant life, and the rising heat dries and opens the ripe cones of the
redwood, releasing many thousands of seeds onto the ground below.

New trees are often produced from sprouts, little baby trees, which form at the base
of the trunk. These sprouts grow slowly, nourished by the root system of the “mother” tree.
When the main tree dies, the sprouts are then free to grow as full trees, forming a “fairy
ring” of trees around the initial tree. These trees, in turn, may give rise to more sprouts,
and the cycle continues.
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moist JHAY ;  tropical BVEHY ;  retreat IR

trunk f5f5E  ; stout BXEHRY ; straight EHHY

columnft ; spongy JE&RLIEY ; bark f5Z

intact SEA4FHEGRAY 5 prosper TIE KA 5 cone BRALE[HERS

fairy ring EELERE I ZCER ;  initial )PV EEERHY ;  inturn K2

( )53. Why were redwood trees more prominent in the forests of North America millions
of years ago?

A) The trees were taller and stronger.

B) The soil was softer for seeds to sprout.

C) The climate was warmer and more humid.

D) The temperature was lower along the Pacific coast.

ZE(C)HE Y © S R AT 5 Ry R A BV Y ILSE AR B FE F] B o prominent =

——~ e~~~

outstanding; distinguished FE=21

( )54. What does a “fairy ring” in the last paragraph refer to?
(A) Circled tree trunks.
(B) Connected root systems.
(C) Insect holes around an old tree.
(D) Young trees surrounding a mature tree.
(D) - S ACICERISE T I 2R il & B F M A A6 18 A= Rl S BRI AR, JZ Ak

"R ) AHRIAL -

( )55. Which of the following is a function of the tree bark as mentioned in the passage?
A) It allows redwood trees to bear seeds.

B) It prevents redwood trees from attack by insects.

C) It helps redwood trees absorb moisture in the air.

D) It makes redwood trees more beautiful and appealing.

BE(B)ELHY ¢ Lotz nt B Pl (R A A 2 B (A L O AN 2 B AR MOK SEHHE

—~ e~~~
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( )56. Why do redwood trees grow to live that long according to the passage?
A) They have heavy and straight tree trunks.

B) They are properly watered and nourished.

C) They are more resistant to fire damage than other trees.

D) They produce many young trees to sustain their life cycle.

ZE(CHEH SR R AT K R MR B ] LB RS TAZ RS A -

——~ e~~~

100 FEE2HIARE

41.C |42.C (43.A (44D |45.A |46.D |47.A |48.A |49.D |50.D

51.B |52.A |53.C |54.D |55.B |56.C

100 5%

36 39 FEERE4

Since the times of the Greeks and Romans, truffles have been used in Europe as
delicacies and even as medicines. They are among the most expensive of the world’s natural
foods, often commanding as much as US$250 to USS450 per pound. Truffles are actually
mushrooms, but unusual ones. They live in close association with the roots of specific trees
and their fruiting bodies grow underground. This is why they are difficult to find.

Truffles are harvested in Europe with the aid of female pigs or truffle dogs, which are
able to detect the strong smell of mature truffles underneath the surface of the ground.
Female pigs are especially sensitive to the odor of the truffles because it is similar to the
smell given off by male pigs. The use of pigs is risky, though, because of their natural
tendency to eat any remotely edible thing. For this reason, dogs have been trained to dig
into the ground wherever they find this odor, and they willingly exchange their truffle for a
piece of bread and a pat on the head. Some truffle merchants dig for their prizes
themselves when they see truffle flies hovering around the base of a tree. Once a site has
been discovered, truffles can be collected in subsequent years.

To enjoy the wonderful flavor of what has been described as an earthly jewel, you
must eat fresh, uncooked specimens shortly after they have been harvested. The strength of
their flavor decreases rapidly with time, and much of it is lost before some truffles reach the
market. To preserve them, gourmet experts suggest putting them in closed glass jarsin a
refrigerator. Another recommendation is to store them whole in bland oil.
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harvest UgZE|] ; with the aid (/ help) of 7F... B T
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detect (HZZH, ; sensitive (+to) (&f..)BUEHY ; odor FAE

give off (/ send out)Zf H, HEZH, ; tendency fH[a], ZA...

remotely fix/ Vit ; edible B]DAIZHY  ;  remotely edible fiifs v & F
exchange Afor B : DL A EZHAHI B ; pat &KEHIF

hover #%Jjg ; subsequent {£4&MY ; described as #fH7L ...
shortly(/ soon) after A : 1£ A 218 426/% ; earthly AJEHY

jewel EREF (AT EY) (jewelry BREF, A H[H) ;  specimen 7K

gourmet B2 ; recommendationE #EfE ; bland JFIRHY

( )36. Why do some people prefer using dogs than pigs in search of truffles?
(A) Dogs have stronger paws to dig.
(B) Dogs usually won’t eat the truffles found.
(C) Dogs have a better sense of smell than pigs.
(D) Dogs are less likely to get excited than pigs.

HE(B)EEH ¢ SR KRR E I MIHIMABR S AR L R A0 HHEE - paw JTC

( )37. What is the best way to enjoy truffles as a delicacy?
A) Eating them cooked with pork.

B) Eating them uncooked with bland oil.

C) Eating them fresh right after being collected.

D) Eating them after being refrigerated.

ZE(C) T DU R R AT M PR AT 2B T e S BB R BE R

~ e~~~

( )38. Which of the following statements is true?

A) Truffles are roots of some old trees.

B) Truffles can be found only by dogs and pigs.

C) Truffles send out a strong odor when they mature.

D) Truffles cannot be collected at the same place repeatedly.

—~ e~~~
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()39. Which of the following can be inferred from the passage?
A) Truffles sold in glass jars are tasteless.

B) Truffles taste like fruit when eaten fresh.

C) Truffles are only used for cooking nowadays.

D) Truffles are expensive because they are difficult to find.

BE(D) B SR B EE 250 £ 450 o, H AR RAEHE MREHLE -

——~ e~~~

infer BT ; tasteless FELR[Y

£ 40 £ 43 FHEEE

In an ideal world, people would not test medicines on animals. Such experiments are
stressful and sometimes painful for animals, and expensive and time-consuming for people.
Yet animal experimentation is still needed to help bridge vast gaps in medical knowledge.
That is why there are some 50 to 100 million animals used in research around the world
each year.

Europe, on the whole, has the world’s most restrictive laws on animal experiments.
Even so, its scientists use some 12 million animals a year, most of them mice and rats, for
medical research. Official statistics show that just 1.1 million animals are used in research in
America each year. But that is misleading. The American authorities do not think mice and
rats are worth counting and, as these are the most common laboratory animals, the true
figure is much higher. Japan and China have even less comprehensive data than America.

Now Europe is reforming the rules governing animal experiments by restricting the
number of animals used in labs. Alternatives to animal testing, such as using human tissue
or computer models, are now strongly recommended. In addition, sharing all research
results freely should help to reduce the number of animals for scientific use. At present,
scientists often share only the results of successful experiments. If their findings do not fit
the hypothesis being tested, the work never sees the light of day. This practice means
wasting time, money, and animals’ lives in endlessly repeating the failed experiments.

Animal experimentation has taught humanity a great deal and saved countless lives.
It needs to continue, even if that means animals sometimes suffer. Europe’s new measures
should eventually both reduce the number of animals used in experiments and improve the
way in which scientific research is conducted.

R SR
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misleading SR ; authorities & 5, (18 FH#E %)

The authorities did not interfere withus. ; comprehensive =AY

Now Europe is reforming the rules governing (= which govern) animal experiments by

restricting the number of animals used (= which are used) in labs. E{Z&fH4 &V AR

S A 2 Al A A

alternative 7545 (= option; choice) ; human tissue A Ha4H%%
at (the) present (time) =now ; findings 2537 (15 FH #554)

fit ... fHFf8E ; hypothesis {fiE%

see the light of day & &K 1,540~ AFTAl

practice |8 ; endlessly #£E5zE ; humanity AZH
measure ¥ ; conduct #fT ; ensure FE{FR
(insure...against #¢{f ; assure...of {RZE)

enforce ¥{T, Hifi. (reinforce ¥4 - fil5®) ; ban ZE(E(%)

publication HiRiL ; remove (+ from) #2fR

( )40. What is the main idea of this passage?

A) The success of animal experiments should be ensured.

B) Ban on the use of animals in the lab should be enforced.

C) Greater efforts need to be taken to reduce the number of lab animals.

D) Scientists should be required to share their research results with each other.

B (CEH MR EAGEHY S Y BONEFGEILE e 2 H A

~ e~~~

Al SR IR B B DUR O RE F B s )

( )41. Which of the following statements is true about animals used in the lab?
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A) America uses only about 1.1 million lab animals per year.

B) Europe does not use mice and rats as lab animals at all.

C) Britain does not use as many lab animals as China does.

D) Japan has limited data on the number of lab animals used each year.

(D) ¢ SR ke H AT L SRR A Y 2 M B R s E S EE

——~ e~~~

)42. Which of the following is mentioned as an alternative to replace animal
experiments?

A) Statistical studies.

B) Computer models.

C) DNA planted in animals.

D) Tissue from dead animals.

2E(B) B ¢ SR KA A sRF R P A\ G AR SR EE S e i ] DUR A B

——~ e~~~

LY

)43. What usually happens to unsuccessful animal experiments?
(A) They are not revealed to the public.

(B) They are made into teaching materials.
(C) They are collected for future publication.
(D) They are not removed from the

research topic list.

R (A - SR R AR P38 R B Bkl

o SR B A 1T P RZ TS L

(FEjE) A~y NPTl

Spider webs are one of the most fascinating examples of animal architecture. The

most beautiful and structurally ordered are the orb webs. The main function of the web is
to intercept and hold flying prey, such as flies, bees and other insects, long enough for the
spider to catch them. In order to do so, the threads of the web have to withstand the
impact forces from large and heavy prey as well as environmental forces from wind and
rain for at least a day in most cases.
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The orb web is found to have two main characteristics. The first is its geometry,
which consists of an outer frame and a central part from which threads radiate outward.
Enclosed in the frame are capture spirals winding round and round from the web center out
to the frame. The whole web is in tension and held in place by anchor threads, which
connect the frame to the surrounding vegetation or objects. The second and perhaps most
important characteristic is the material with which it is built. Spider silk is a kind of natural
composite that gives this lightweight fiber a tensile strength comparable to that of steel,
while at the same time making it very elastic. Two types of silk threads are used in the web.
One is highly elastic and can stretch to almost twice its original length before breaking and,
for most types of spiders, is covered in glue. This type is used in the capture spiral for
catching and holding prey. The other is stiffer and stronger, and is used for the radius,
frames and anchor threads, which allows the web to withstand prey impact and to keep its
structural strength through a wide range of environmental conditions.

R SR

iRk S B RR T e NE R 2 — s 2 RE HaS A PR st 2 E
IORAH, 3% 4 L D RE LS TR I R R ] B (R T TR VIR, BT i, i e At EE 2 5,
DA S ek 25 A fe 9, o LG ik 4 Y 4 22/ D70 — BER BE AR 2 R EERYIRYIHET 8 ), R
KE BRI & -

A P IR A 1 3 T WA T By B, B E L AR (T FR Y MEAE AN o R SH B,
SRR NIEER, EENEASE S AL 2/ME—BI X —BIffe VIR e, 5=, i
BSRIE]E iR HIRFAE AR B4 21 P B KSR Y _E 55 IR, B e e EE Y e
DURERAEIAT I SRR S TR ZE R 46 T IS Tl Al mI e s sl A1 ey e 7, [
Ry S A TR, RS (RIS &R IR, — 2 e 5 e, P fef 281 P R FEE W £ A T,

BIRER AR T S [LARSR G & — B ISR T e FH IR e DASE Y »

U

IR, Sy TEAREAR M58 7, R BRES R IR ~ IEZR TSR, 12 AT A AR SR T e
N BEEAEZTEEEGINI T R EAERETT -
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fascinating < AZE 2Ry 5 orb 838, BKARY)  ;  intercept &L
prey JE&¥YJ(U) ; thread(E etc)dfd ; withstand 28150
characteristic 522 ; geometry 24{0[fZ ; radiate H 9/ #HEETS

consist of FH...ff74H5% (= be composed of = be made up of )

Enclosed in the frame are capture spirals winding (which wind) ...
= Capture spirals winding (which wind) ...are enclosed in the frame.

N 78 j (B Efi E5aHY el | 5B R, 2 EhER are KB RORIR H, H X, RIEREER,

w0 £ B AIHRE AL B 43

in tension B4l ;  inplace TEEENIE ; anchorthread EZE 4R
anchor 8 FELI 769 A(B78)) ; connect Ato B : ¥ A E#4EA B
surrounding fEEHY ; vegetation BER

composite 5 &HY ; lightweight #¢&HY ; tensile 5 7Y

comparable (+ to) B[ fl..#g& ; elastic A

twice (/ three times...) + the length (/ height / size) of...
—twice (/ three times...) + as long (/ tall / large) as...

stretch }ilf& ; coveredin... : &.. . fiES
stiff BEAY 5 $EAY  ;  radius $E54RE  ;  structural strength 45557

a wide range (variety) of %R~ [E]HY

( )44. What is this passage mainly about?
(A) The food network in nature.
(B) The construction of orb webs.
(C) The network of geometrical studies.
(D) The environmental challenges for spider webs.
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)45. What does the word “so” in the first paragraph refer to?
) To catch and keep small creatures.
) To find a good material for the web.

C) To observe the behavior patterns of spiders.

D) To present a fantastic architecture by animals.

BE(AVELF © 3CH so FEBIRGERY L EIhRE - AL - S ERIT T HVIRY), Q1A A K

2E(B)EREY @ S AR 4SS
(A
(B
(
(

HAnEE&... - observe 2L ; fantastic HiLIE(E,E AN

)46. Which part of the web is used for supporting the web itself ?
(A) The center of the web.

(B) The glue on the lines.

(C) The anchor threads.

(D) The capture spiral.

B (C)HEH - SCHHE K2 The whole web is in tension and held in place by anchor threads...

)47. According to the passage, which statement is true about the silk threads?
) They are all sticky and extendable.
) They are usually strong enough to last for a day.

C) They remove harmful chemicals from insects.

D) They are made of rare plants in the environment.

BE(B)ELH © SR R iR SR 2/ DJH — BER AR KT EE YRR B8 7, ) 2 5

(A
(B
(
(

EFRVIEEE S7&= - extendable A ZE R

% 48 ¥ 51 FHEBEG

Doctor of Philosophy, usually abbreviated as PhD or Ph.D., is an advanced academic

degree awarded by universities. The first Doctor of Philosophy degree was awarded in Paris
in 1150, but the degree did not acquire its modern status until the early 19" century. The
doctorate of philosophy as it exists today originated at Humboldt University. The German
practice was later adopted by American and Canadian universities, eventually becoming
common in large parts of the world in the 20" century.
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For most of history, even a bachelor’s degree at a university was the privilege of a
rich few, and many academic staff did not hold doctorates. But as higher education
expanded after the Second World War, the number of PhDs increased accordingly.
American universities geared up first: By 1970, America was graduating half of the world’s
PhDs in science and technology. Since then, America’s annual output of PhDs has doubled,
to 64,000. Other countries are catching up. PhD production has sped up most dramatically
in Mexico, Portugal, Italy, and Slovakia. Even Japan, where the number of young people is
shrinking, has churned out about 46% more PhDs.

Researchers now warn that the supply of PhDs has far outstripped demand. America
produced more than 100,000 doctoral degrees between 2005 and 2009, while there were
just 16,000 new professorships. In research, the story is similar. Even graduates who find
work outside universities may not fare all that well. Statistics show that five years after
receiving their degrees, more than 60% of PhDs in Slovakia and more than 45% in Belgium,
the Czech Republic, Germany, and Spain are still on temporary contracts. About one-third
of Austria’s PhD graduates take jobs unrelated to their degrees.

Today, top universities around the world are still picking bright students and
grooming them as potential PhDs. After all, it isn’t in their interests to turn the smart
students away: The more bright students stay at universities, the better it is for academics.
But considering the oversupply of PhDs, some people have already begun to wonder
whether doing a PhD is a good choice for an individual.

R SR

(E5%) M52z, (philosophy BikszHy T HTE2 ; JERH), ¥ 455 Rk PhD 202 Ph.D. 2
FARERE T HY e T ER AT ERAL, 55— (E LB fOPE T 1150 SRR T (H ISR U B
19 &SI A H ATAYHIAL, 5 RV L E2ArBR e AL E AR fE B LB B A #55 ~
AR EZFTER AN, B (2 w7 20 HACAE Bk AR EN il -

JRE S R AR ] B R R SRS R T 2 VB AR st T 2520 A B
#2A T8 BRI B IR R, N = S 203 AR B T R AR T, S5 B R B2 2
= R 11970 2 Z Fiy, 5B B TRHIE A SR R R 5, L% SRR A R A R
Wi 6 & 4 T AR AEREE o £ RV 5~ aE - FAR R e i LAY
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ARAEFEE SN0 H G E R B E 45y H A o & A4 ZE R hn&UHE 5 46 %y TH
+ o

BHFE A B HATE S BAE LTS AR, [ 2005 5] 2009 4, 5B A FE 10
Bt AIRA 18 6 T2 Fae i aE I el 7L 5 e il B B s A AE R4
TR A RS S TEUR S 5 £ 218 & (X oT A 6 iy E+,tb
FIBS ~ FE5E ~ FEEFIPEIESF AR 45 Yo IR L E MEEF 524 T/F, A4S A 3 47
Z Ly B AR BIFTEAAE FHY A

SR RS ATTRISR EA BB AV 22 A N At (e Ry VAT mT RE R 171 2
5 B S SR B ER A A S P A RS B (B A 82, B g A\ B
18 B B R B R AT 1, A L AN BRI IRE, & T HHE A (AE) 1 S 2 S (@
P -
..., (which is) usually abbreviated as PhD or Ph.D., is ... &I EFR & F AR TP 25 5 T~ i
Jraa 7 GBI
advanced academic degree [= 4R HYEL (i
..(which is) awarded by universities. &/ 250+ A8 S 756 5 56
abbreviate 4% ; advanced 5% JoiEHY ; academic E2{igHY
award fHF (award AtoB=awardB+A : ¥ A fHF B)
status 577;30fiz ; doctorate f-E2{i1 ; originate EEJH(FY)

as it exits today fuifi AfHEE, Al E A ; practice &, BRI
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adopt B UZE  (adapt (.78 E) ; bachelor 21

privilege 551 ; expand #E K ; accordingly(=correspondingly) Al JH:
gear up (/ become ready) for @ .. f5CEF

gear ... up for = make ... ready for : {&... (5=

output FEtH &  ; double &3 ; catch up (with) 6

speed up JIIZE ; dramatically BREIPEM, 5] A 0E HAY
shrink({S8)4E/)N ; churn out KE4E, 1S

outstrip #8i#% > 528 ; professorship Zifzfkfiy ; fare FiIf
statistics 45 TECE(IHEELY) ; ontemporary contracts {{<kEHFFLLY
unrelated (+ to) .. f®[EH ; groom (LT AEMH 55 5l 4R
potential JE{FHY ; inone’s interests & 5 AAYA 7S

oversupply It #E 2%

( )48. In which country did the modern practice of granting doctoral degrees start?
(A) France.  (B) Germany.
(C) Canada. (D) The U.S.

BE(B)EEHY ¢ SR RERF Y I L BN i (TR AL R 2R

( )49. Which of the following words is closest in meaning to “churned out” in the second
paragraph?
(A) Failed. (B) Warned.
(C) Demanded. (D) Produced.

DL « PR R “REARHE B T EN L ABEMN..., 2 NG
il ERR LR BRI+
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)50. Which of the following may be inferred from the third paragraph?

(A) PhD graduates in Austria are not encouraged to work outside university.

(B) Most German PhDs work at permanent jobs immediately after graduation.
(C) It is much easier for American PhD holders to find a teaching position than a research
job.
(D) It is more difficult for PhDs to get a permanent job five years after graduation in
Slovakia than in Spain.

(D) 3% TR IR B SEIGERL § R1& MR (R Feya S 6 By it EEFINT ~ 7
o7~ [EERFIPEHE I i 45 Y%y E RS 24 TR -

permanent &A1Y

)51. Which of the following best describes the author’s attitude toward the increase of
PhDs in recent years?

(A) Concerned.  (B) Supportive.
(C) Indifferent. (D) Optimistic.

(A - P — R RETA A CRARE, E R HEAGEE) NS G2
TFIEERE
attitude (+ toward) (¥}...)56f% ; supportive (+ of) Z#5F...

indifferent (+ to) ¥f...REd.(» ; optimistic 28811y

100 f5 5 A%

36.B |37.C |38.C |39.D [40.C |41.D |42B |43.A |44B |45.A

46.C |47.B |48.B [49.D |50.D |51.A
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